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[k.M&1 

(Section-1)
(mÙkj dh 'kCn lhek&30 vad&02)

Hkkx&1 

1- 	 v/krq rÙoksa dk la{ksi esa o.kZu dhft;sA � [2]

	 Discuss briefly about non&metal elements.

2- 	 lkcqu D;k gS\ lkcqu fuekZ.k esa mi;ksx gksus okys inkFkks± ds uke fyf[k,A � [2]

	 What is soap? Write the names of substances used in preparation of the soap.

6- 	 vory niZ.k ds mi;ksx fyf[k,A � [2]

	 Write the applications of Concave mirror.

7- 	 xSlksa esa fo|qr foltZu dh O;k[;k dhft;sA 	�  [2]

	 Explain the electric discharge in gases.

8- 	 fo|qr ÅtkZ vkSj fo|qr 'kfDr dks ifjHkkf"kr dhft;sA � [2]

	 Define electric energy and electric power.

11- 	ijkx.k dks le>kb,A � [2]

	 Explain the pollination.

12- 	ekuo 'kqØk.kq dk ukekafdr fp=k cukb,A � [2]

	 Draw the labelled diagram of human sperm.

13- 	Mh-,u-,- ds ?kVdksa dk mYys[k dhft;sA � [2]

	 Mention the components of DNA.

Hkkx&2 

1- foudqye i¼fr ls eku Kkr dhft;s % � [2]

	 8157 + 2103 – 3451 – 1625 

	 Find the value of 8157 + 2103 – 3451 – 1625 by using Vinculum method.

2- 	 ;fn L dk eryc $] M dk eryc &] N dk eryc ×] P dk eryc ÷ gks] rks � [2]

14N10L42P2M8 = ?

	 If L stands for +, M stands for –, N stands for × , P stands for ÷, then 

14N10L42P2M8 = ?

3- 	 nks ikls ,d lkFk iQsads tkrs gSaA nksuksa iklksa ds Åijh lrg ij ,d tSls vadksa ds vkus dh çkf;drk Kkr dhft;sA

� [2] 

 	 Two dice are thrown together- Find the probability of getting same digits on the upper faces of both the dice.

4- 	 nks ifjes; la[;kvksa dk xq.kuiQy 
−14
25  gSA ;fn muesa ls ,d la[;k 

−7
15  gS] rks nwljh 1560 la[;k Kkr dhft;sA�[2] 

 	 The product of two rational numbers is 
−14
25

 If one of the numbers is 
−7
15

, find the other number.

5-	
1

3
rFkk 

5

7
ds eè; dksbZ nks ifjes; la[;k,¡ Kkr dhft;sA � [2]

	 Find any two rational numbers between 1
3

and 
5

7
. 
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6- 	 ;fn 8 ia[kksa rFkk 14 vksou dh dher 36]520 #- gks] rks 12 ia[kksa rFkk 21 vksou dh tks dher Kkr dhft;sA �[2]

		 If the cost of 8 fans and 14 ovens is Rs. 36,520, then find the cost of 12 fans and 21 ovens.

Hkkx&3

1- 	 lwpuk xzke ifj;kstuk ds mn~ns'; fyf[k,A� [2]

	 Write the purposes of Information Village Project.

2- 	 iQkLiQksjl;qDr moZjdksa dk [ksr esa mi;ksx djus dk lgh le; D;k gS\ � [2]

	 What is the right time of application of Phosphatic fertilizers in the field?

3- 	 iksVkl;qDr fdUgha nks moZjdksa ds uke fyf[k,A � [2]

	 Write the names of any two Potassic fertilizers.

4- 	 v{k; ÅtkZ lzksr ds uke fyf[k,A� [2]

	 Write the names of Renewable energy.

5- 	 jk"Vªh; m|ku D;k gS\ � [2]

	 What is National Park.

6- 	 ^vYiQk&tSofofo/rk* dks ifjHkkf"kr dhft;sA � [2]

	 Define 'α-biodiversity'.

7- 	 leqæh {ks=kksa esa rSyh; çnw"k.k dks fu;af=kr djus ds rhu mik; fyf[k,A � [2]

	 Write three measures to control oil pollution in marine areas.

8- 	 ^i;kZoj.kh; vkpkj&uhfr* dks ifjHkkf"kr dhft;sA� [2]

	 Define 'environmental ethics'.

[k.M&2

Section-2 

(mÙkj dh 'kCn&lhek&60] vad&04) 

Hkkx&1 

3- 	 'kq"d la{kkj.k D;k gS\ � [4]

	 What is dry corrosion?

4- 	 viektZd D;k gksrk gS\ ,d mnkgj.k nsrs gq, le>kb, fd ;g lkcqu ls dSls mÙke gksrk gSA � [4]

	 What is a detergent? Giving an example explain how it is superior to soap. 

9- 	 fuEukafdr fp=k esa A] B ds chp rqY; çfrjks/ Kkr dhft;sA � [4]

	 In the following figure, find the equivalent resistance between A and B. 

B

2 Ω

5 Ω
A

2 Ω

14- 	euq"; ds efLr"d ds fofHkUu Hkkxksa dks fyf[k,A � [4]

	 Write down the different parts of Human brain.
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15- 	ikS/ksa esa fu"kspu dh çfØ;k dk o.kZu dhft;sA � [4]

	 Describe the process of fertilization in plants.

Hkkx&2

7- 	 ,d foØsrk us 10% gkfu ij ,d lkbfdy cspkA ;fn foØ; ewY; 200 #i;s c<+kus ij 6% dk ykHk gksrk gS] rks 
lkbfdy dh dher Kkr dhft;sA � [4]

	 A trader sold a cycle at a loss of 10%. If the selling price had been increased by Rs- 200, there would have 
been a profit of 6%. Find the cost of the cycle.

8- 	 tuojh 2019 esa [kjhns x, ,d Vh-oh- dk ewY; çfr o"kZ 12» dh nj ls ?kVrk gSA ;fn tuojh 2021 esa bl Vh-oh- 
dk ewY; 4]840 #i;s gS] rks bldk [kjhnh ewY; D;k Fkk\ � [4]

	 The value of a T.V. set, which was purchased in January 2019, depreciates at 12% per annum. If its value in 
January 2021 is Rs- 4,840, then what was its purchase price?

9-	 −
2

7  vkSj 
14

5
 ds xq.kuiQy ls −

2

7
 vkSj 

5

14
 ds ;ksxiQy dks ?kVkb,A çkIr mÙkj dks fefJr va'k esa fyf[k,A � [4]

	 Subtract the sum of −
2

7
 and 

5

14
 from the product of −

2

7
 and 

14

5
. Write the answer as a mixed fraction. 

Hkkx&3 

9- 	 lkekU; O;fDr ds fy;s bZ&xouZsUl fdl rjg ls ykHknk;d gS\ � [4]

	 How is e-governance beneficial to the common man?

10- 	tSfod rFkk jklk;fud dhVuk'kdksa esa vUrj fyf[k,A� [4]

	 Write the difference between bio and chemical pesticides.

11- 	ck;ksLiQh;j fjtoZ ds inuke ds fy;s vko';d fofHkUu ekunaMksa dks lwphc¼ dhft;sA � [4]

	 Enlist various criteria required for designation of biosphere reserve.

12- 	çtkrh; fofo/rk dk o.kZu dhft;sA � [4]

	 Describe the species diversity.

13- 	ck?k laj{k.k ;kstuk dk la{ksi esa o.kZu dhft;sA � [4]

	 Describe in brief about Tiger conservation project.

[k.M&3 

Section-3 

(mÙkj dh 'kCn&lhek&100] vad&08) 

Hkkx&1

5- 	 jklk;fud lkE; dks mnkgj.k lfgr le>kb,A lkE; fLFkjkad ij fofHkUu dkjdksa ds çHkko dks fyf[k,A � [8]

	 Explain chemical equilibrium with example. Write the effect of different factors on equilibrium constant. 

10- 	çdk'k&fo|qr çHkko dk vè;;u djus ds fy;s ç;ksxkRed O;oLFkk dk o.kZu dhft;sA çdk'k&fo|qr /kjk ij çdk'k 
dh rhozrk ds çHkko dh O;k[;k dhft;sA � v

	 Describe the experimental arrangement for study of photoelectric effect. Explain the effect of intensity of 
light on photoelectric current.

16- 	ikS/ksa esa [kfut yo.kksa ds ifjogu dks le>kb,A � [8]

	 Explain the transport of mineral salts in plants.
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Hkkx&2

10- 	nks ikbi A vkSj B Øe'k% 10 feuV vkSj 15 feuV esa ,d Vadh dks Hkj ldrs gSa] tcfd ,d rhljk ikbi C Vadh 
dks 5 feuV esa [kkyh dj ldrk gSA ikbi A vkSj B dks 'kq#vkr esa ,d lkFk 3 feuV ds fy;s [kqyk j[kk tkrk gS] 
rRi'pkr ikbi C dks Hkh [kksy fn;k tkrk gSA Kkr dhft;s fd fdrus le; esa Vadh [kkyh gks tk,xhA � [8]

	 Two pipes A and B can fill a tank in 10 minutes and 15 minutes respectively while a third pipe C can empty 
the tank in 5 minutes. The pipes A and B are kept open together for 3 minutes and then third pipe C is also 
opened- Find the time taken to empty the tank.

11-	 fuEu lkj.kh esa 100 fo|qr nhi ds thou dky dh ckjackjrk forj.k dks ?kaVs esa n'kk;k x;k gSA buds thou dky dh 
ekfè;dk 20 ?kaVk gks] rks ckjackjrk x Kkr dhft;sA � [8]

	 The following table gives the frequency distribution of life length in hours of 100 electric bulbs having the 
median life 20 hours. Find the frequency x.

Life of bulbs (in hrs.)
nhi dk thou dky (?kaVs esa)

 No. of bulbs
nhiksa dh la[;k

8&13 7

13&18 x

18&23 40

23&28 y

28&33 10

33&38 2

Hkkx&3

14- 	lwpuk çkS|ksfxdh ds }kjk lapkfyr O;kikj uhfr ds ykHk crkb,A � [8]

	 Explain the benefits of Information Technology driven business strategy.

15- 	tSo&fofo/rk ds ^rIr&LFky* D;k gSa\ Hkkjr ds iwohZ fgeky; {ks=k esa ik, tkus okys eq[; ikni ,oa tUrqvksa dk o.kZu 
dhft;sA � [8]

	 What are the biodiversity 'Hot&spots'? Describe the distinct flora and fauna of Eastern Himalaya of India.

16-	 euq"; ds LokLF; ij èofu&çnw"k.k dk D;k gkfudkjd çHkko iM+rk gS\ fyf[k,A � [8]

	 What are the harmful effects of sound pollution on human health? Write.

[k.M&4 

Section-4

(mÙkj dh 'kCn&lhek&125] vad&10) 

(bl [k.M esa Hkkx&2 ls dqy 2 ç'u vFkok@OR ds :i esa fn, x, gSaA 

vH;FkhZ dks buesa ls dksbZ 1 mÙkj nsuk gksxkA) 

Hkkx&2

12-	 fuEufyf[kr rkfydk dk è;kuiwoZd vè;;u dhft;s vkSj ç'uksa ds mÙkj nhft,%� [10]

ekg
lk/kj.k Mkd iathXr Mkd LihM iksLV

la[;k
jkf'k
(#-)

la[;k
jkf'k
(#-)

la[;k
jkf'k
(#-)

tuojh 372 223 114 724 22 660

iQjojh 467 280 171 1060 38 1856
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ekpZ 2422 1914 169 1048 28 840

viSzy 516 310 213 1193 126 3780

ebZ 398 239 147 823 49 1568

twu 419 251 182 1132 37 1184

dqy 4594 3217 996 5980 300 9888

 Study the following table carefully and answer the questions:

Month
Ordinary post Registered Post Speed Post

No. Amount 
(INR.) No. Amount 

(INR) No. Amoung 
(INR)

January 372 223 114 724 22 660
February 467 280 171 1060 38 1856
March 2422 1914 169 1048 28 840
April 516 310 213 1193 126 3780
May 398 239 147 823 49 1568
June 419 251 182 1132 37 1184
Total 4594 3217 996 5980 300 9888

(i)	 fdl eghus esa Mkd ij dqy [kpZ lcls vf/d gS rFkk ;g fdruk gS\ 

	 In which month the total expenses on postage is highest and what is it?

(ii) 	ithXr Mkd dh dqy jkf'k lk/kj.k Mkd ds vçSy ekg dh jkf'k dk fdruk xquk gS\ 

	 Total amount of registered post is how many times the amount of ordinary post for the month of April?

(iii) 	ekpZ eghus esa lk/kj.k Mkd dh jkf'k] LihM iksLV dh lcls de jkf'k dk fdruk xquk gS\ 

	 The amount of ordinary post in the month of March is how many times the minimum amount of speed post? 

(iv) tqykbZ eghus esa LihM iksLV }kjk Hksts tkus okys Mkd oLrqvksa dh la[;k 52 gksus dh mEehn gSA bu oLrqvksa ij vuqekfur 
O;; #i;s esa fdruk gksxk\ 

	 The number of postal items in July to be sent by speed post is expected to be 52. What would be approximate 
expense on these items in rupees?

(v) 	 fdl eghus esa Mkd ij dqy [kpZ lcls de gS rFkk ;g fdruk gS\ 

	 In which month the total expenses on postage is lowest and what is it?

vFkok 

OR 

	 xf.kr esa Jhfuokl jkekuqtu dk ;ksxnku fyf[k,A 

	 Write the contribution of Shrinivasa Ramanujan in Mathematics.

[k.M&5 

Section-5 
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(mÙkj dh 'kCn&lhek&175] vad&15) (bl [k.M esa Hkkx&1 ,oa 3 ls Hkkxokj dqy 4 ç'u  
vFkok@OR ds :i esa fn, x, gSaA 

vH;FkhZ dks Hkkx&1 o 3 ls 1&1 ç'u dk mÙkj nsuk vfuok;Z gSA) 

Hkkx&1

17- 	lksyj lsy D;k gksrk gS \ ih&,u laf/ lksyj lsy dh lajpuk ,oa dk;Zfof/ dk o.kZu dhft;sA lksyj lsy dks rS;kj 
djus ds fy;s ç;qDr lkexzh dk uke fyf[k,A lksyj lsy ds D;k mi;ksx gSa\� [15]

 	 What is a solar cell? Describe the construction and working method of P&N junction solar cell. Write the 
name of materials used to prepare solar cell. What are the uses of solar cell?

vFkok

OR

	 /krqvksa dh vk/qfud vkorZ lkj.kh esa fLFkfr ,oa muds lkekU; xq.kksa dk o.kZu dhft;sA 

	 Describe the position of metals in modern periodic table and their general properties. 

Hkkx&3 

17- 	lwpuk çkS|ksfxdh ds o`gn~ vuqç;ksxksa ij ,d fuca/ fyf[k,A � [15]

	 Write an essay on large uses of Information Technology.

vFkok

OR 

	 vkS|ksfxd Bksl vif'k"V D;k gS\ blds çca/ ds fofHkUu mik;ksa dk o.kZu dhft;sA 

	 What is the Industrial Solid Waste? Describe the various measures for its management.


